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SL.No. Total No. of Pages : 7
V Semester B.Com. Examination, October/November 2019
’ (Scheme : MSS-RS)
(Freshers of Nov./Dec. 2015 and onwards)
BUSINESS MATHEMATICS

Timee : 3 Hours Max. Marks : 80
Instractions : 1) Answer all the parts.
DY PRnnene yv3oA.
2) Use log tables wherever necessary.
¥TFI0E CFbrbres &nge svTimeni.

PART - A

=W - D
Answer any five questions. Each question carries 8 marks. [5 x 8 = 40]
cdRPHTT0R 0T TR IR, T TFR 8 ©WOINTD.
Q1) Simplify, ZCweFOX

3’ x(27) x9" x3*x 3*
3x(81)'x 9% x3*

e

02) Mr. ‘A’ deposited Rs. 40,000 in a Bank for a period of 2 years. The Banker
allowed interest 8% p.a. You are required to calculate the total interest, if
interest is compounded ‘

a) Annually
b) Halfyearly
¢) Quarterly

d) Alsocalculate simple interest

_ PTO.
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‘A’ OB 2 IRFT OTOR 40,000 Be. RYD, WEIIY BeBedodPNEITRT
OB Be. 8 CoB w VeBI. PO, BT, WPON0F LeBW3 BT 2ot
m%odami FOR L TBOWD.

R) WONFTIN 238 WB DOATIT
R) WR TS VTY VTF ToAFBTTT
2) 3 BT[N BF 0 DPATB Torw

8) 3O0¢ wBOH), B8PS WHBO

03) A bill drawn for Rs. 1,00,000/- payable after 3 months is discounted at 4%
p-a. find

a) The present worth of the bill
b) Banker’s Discount

¢) True Discount

d) AmountAvailable

¢) Banker’s Gain

3 $oNY T0IT TIITHT 8w, 1,00,000 T 1.0 &o&oﬂ;?\g wmo&F 3 Je.d
0 BORE Reel SRBTeoND. B éﬁ?ﬁa‘@n’e}m& O HRBOWD.

D) IHOROD TAI aﬁaoé )
W) ROITI AReR
A) I Reed
&) Ad Jeo
Q) mﬁoidaﬁ (STl =y
2-
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04) Using the log table find the value

(12.34)% x (4.72)5
3.746

OFPOMEEE BAJF LTSRN XS FoRLHABONWD.

(Q5) Find three numbers in GP. so that their sum is 65 and their product is 3375.

20T 2508 ZerdoDIT Tt XoBnY Be3 65 HFy vPYne rreve
3375 o8 & Torith oIRYY? 0BEHBAND.

Q6) Mr ‘A’ is appointed on a salary of Rs. 8,000 p.m. and gets an increment Rs.
400 every year. He contributes 10% of his salary to pension scheme, What
will be the total contribution at the end of 30 years of service.

‘D QoI doriert T, 8,000 JeITE JeDBTHIVI DB T3 IXF
8. 400 BP0 [ed [BodwIT SBeIIT Je. 10 TH, 3, T3 BeI
deexdn BredNand 30 SRFNY Fedod VBHODY PBAVE 2t Beo
ﬁtﬁa‘? BOT:&H ALY,

07) Given 8BNS
Total cost = 0.06x* + 4x + 400
Total Revenue = 100x -
Find
a) Marginal cost function
b) Marginal Revenue function
c) Average cost function

d) Maximum profit earning volume

-3-
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FODEBEBCWD.

Q) B=0 W%, ROOGS

Yy

@) B[O SHCH FOWOT
X) XNCPRO [

B) NPT NOF RPT BRI

08) The ratio of prices of two vehicles was 8:7. Three years later when the price
of the first had increased by Rs. 880 and the second by 10% the ratio of their
prices became 13:11 what were the original prices.

20T BIE BS 8:7 O YRWEBYRD, Bt IFFNY F08 BeEUS

| WEIB BS 0. 880 B, BPYEND. ) SORS EIT BSohY .
10 Begvamoondy. BPYE FoIT VYNY BS BB 1311 4. B
R BS YR, BOBLEWD.

Answer any 4 questions. Each question carries 5 marks. (4 x5=20]

CIRYTRECR Toey TFNYR WwIdA. TP TFfF 5 Losnw.

09) Simplify ROVeEOL.

log;

logy;x logy™
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Q10)Find the sum of all numbers between 100 and 400 which are divisble by 77
100 & 400 o] mdé AT T 00T RTRNT TR ﬁoaiﬁriq# Reg
oW RCWD. -

Q11)Simplify T30,

%

Q12)Integrate 12x* + &x* + 10x* + 10 w.r.tx OFLIOTAROR

W | -
&)

1
Q13)Divide Rs. 1,300.among A,B and C in the ratio of rh

1
fz TETRTY APLA.

b |
L |

A Bda C 33 8, 1,300 1,

Q14)On what sum does the difference between simple and compound interest for
2 years at 4% amounts to Rs. 16.

Be. 4 Cod Q0@ IHFHieR IR B doed FVY wE I W3 wPOD
SO I 6. 16 SN,

PART - C

- A

Answer any ten sub questions carries two marks. [10 % 2 = 20]
IRYTOUCR B YT TIRER GO0, T3 T THN QTW BDOINO.
Q15)a) Simplify ROVeEOX

3(256)° x §/(729)

5.
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b)

d)

g

h)

)

k)

. Write the difference between A.P. and G.P.

What is integration?

DIOT D0TTERN9

Find ‘x*1f5:30=12 : x.
x 2363 BOW HAROND

What is common logarithm? Give an example.
TRTPT, OPO TORE HOTTERN? YWIRBTH oA,

State the laws of Indices.
Q[OBIT T ‘c’bodoa‘nri#md 3P,

©OT¥ Feed W Moees Jeedod BIITI, VX
If y=(6x*+x* + 4x* + 10) 933 find %ﬁoda&ﬁoaob.

Evaluate [(4x° +12x7 +8)dv P04,

WOd auUIfuOwoN mmm//:sdny

Find the G.M. between & and 32.
8 a’bég 32 T SIEAT med IToRO IoHBOND.

What is simple interest?
pstel A ROTITERDY?

Find the simple interest on Rs. 300 at 14% for 7 years.

Cr. 3000 Hed oard 3@ 14 003 7 IRFT «o=0R Iov
uaéoioabgl FOB&BCWRD.
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)  Find the value of /1000 -
WSohD, TOBHBOND.

m) Find the present worth of a Bill of Rs. 50,000/~ due after 6 months at
12% p.a. .

W, Be. 12 T23 6 3cn$ T03T fR@mcimimm CGw. 50,000
oL TR ;5’336 aﬁ;.?

n) Find the percentage of 12 out of 80.
R0 3eFRSIN), BOBLRCWD.

o) Find the sum of 5 terms of the sequence 16, 19, 22 ............

g ISRING R0, 5 FoB7IY 3nmd ReIZ, TOBLAED.

NS

\ P/
e 000‘0
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